BRMI o 1075242 R SE 2 BB BB BB B R

Ry HHA : 1084E3 314 HZE 10843 H20H
ol —FEER
BEgk 101 | 102 | 103 | 104 | 105 | 106 | 107 | 108 | 109 | 110 | 111 | 112
— ~ HEE IR (40%) 86.0 [90.0 |83.0 | 87.0 | 81.0 | 86.0 [84.0 |87.0 | 87.0 | 88.0 |84.0 |84.0
= AMFEEIR(40%) 80.0 [ 80.0 |78.0 |80.0 | 76.0 {79.0 [ 80.0 |86.0 | 84.0 | 78.0 |80.0 [80.0
=~ BRI (10%) 84.5 [93.5 | 82.5 | 86.0 | 85.0 [90.5 [83.0 |83.0 |91.5 | 84.5 [89.5 [83.0
Iy~ EHFE(10%) 80.0 | 80.0 [ 76.0 [80.0 |75.0 |80.0 {79.0 [ 81.0 [79.0 | 78.0 | 80.0 |80.0
HaspEy 82.9 |85.4 [80.3 [83.4 |78.8 |83.1 |81.8 [85.6 [85.5|82.7 |82.6 [81.9
FERARMAE Sy | -1.0 -1.0 -1.0 -1.0 2.0
T 81.9 | 85.4 [79.3 [83.4 |77.8 |83.1 | 81.8 [85.6 |84.5 |82.7 |80.6 819
R s |2 || 4| (59|71 |3|6]|10]|7
ol AR
BEgk 201 | 202 | 203 | 204 | 205 | 206 | 207 | 208 | 209 | 210 | 211
— ~ HE SR (40%) 79.0 | 84.0 | 88.0 [ 85.0 [83.0 | 79.0 | 88.0 {95.0 [92.0 [90.0 | 85.0
= AMFEEIR(40%) 79.0 |79.0 | 80.0 [ 80.0 [82.0 | 79.0 | 78.0 | 84.0 | 82.0 |81.0 | 82.0
=~ BRI (10%) 89.0 | 80.0 | 86.5 | 84.0 | 87.0 [83.0 [87.5 | 87.5 | 84.0 | 81.5 [83.0
Iy~ EHFE(10%) 80.0 | 79.0 [ 80.0 [84.0 | 82.0 | 84.0 | 80.0 [83.0 [82.0 |84.0 | 77.0
HaspEy 80.1 | 81.1 [83.9 [82.8 [82.9|79.9 | 832 [88.7 [86.2 |85.0 | 828
FERIR LA > 10 [-20 [ 15 [-20 | 1.0
HETH 80.1 | 81.1 [83.9 [83.8 [80.9 |81.4 |81.2 [89.7 [86.2 |85.0 | 828
R 1| 9|14 | s |10 78| 1| 2]|3]|6¢6
ol =R
Biak 301 | 302 | 303 | 304 | 305 | 306 | 307 | 308 | 309 | 310 | 311
— ~ HEE IR (40%) 78.0 | 81.0 | 83.0 [ 84.0 [80.0 | 75.0 | 85.0 | 82.0 | 81.0 [82.0 |92.0
= AMFEEIR(40%) 79.0 | 82.0 | 82.0 [ 82.0 [80.0 |80.0 | 82.0 {80.0 [ 74.0 |81.0 | 82.0
=~ BRI (10%) 80.0 | 81.5 | 84.5 190.0 | 82.0 [83.0 [86.0 | 84.5 | 81.5 | 81.5 |84.5
Iy~ EHFE(10%) 78.0 |80.0 | 80.0 | 83.0 [79.0 |80.0 | 83.0 {82.0 [ 76.0 |81.0 | 82.0
HaSpEy 78.6 | 81.4 | 825 [83.7 [80.1 |78.3 |83.7 |81.5 [77.8 [81.5 |86.3
FRAR SRS Y
HEH 78.6 | 81.4 |82.5 |83.7 | 80.1 | 78.3 | 83.7 | 81.5 | 77.8 | 81.5 | 86.3
R 9| 7| 4|28 |1W0]| 2] 5|1 6] 1
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